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BoTh R B LNRIAMER L4t LS * 2R

T AT T EFRE AR - (3L 40 43)

B e AREE (mmHg) . S AT
Ht SEB] W e 72 )

1 148 152 +4
2 142 152 +10
3 136 134 -2

4 134 148 +14
5 138 144 +6
6 140 136 -

7 132 144 +12
8 144 150 +6
9 128 146 +18
10 170 174 +4
11 162 162 0

12 150 162 +12
13 138 146 +8
14 154 156 +2
15 126 132 +6
16 116 126 +10

(1) it I SR i 2 BLE B A1 Rl ORI 2 23445 - (10 53)

(2) 77 H paired-t test statistics # 5 EBNATERIKEEE RS H00S at significance
level of 0.05? (10 43)

(3) aH{ELA ttest statistics EERSEBNH L IKREET® ~ 95% SHEM - (104)

(4) F5FH Wilcoxon signed rank test statistics BRI E S A at
significance level of 0.057 (10 4}) ‘

it 1: The 95" percentile for the student-t distribution with 15 degrees of freedom is

1.753.

at 2 ! The 95" percentile for the standard normal distribution is 1.645 and 97.5"

percentile for the standard normal distribution is 1.96.
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(1) 20T 0SB OX) S S4B (Y 55 15 S4B ( continuous variables ) -
aRfATHE BAL X 0 Y bt R FEHBRIE "R R A A 3G
EHE R TR L2 % AT - (104)

(2) UVRBTAIIE(X) S (Y)Y B4 HME (nominal variables) * G
AT RAL X A0 Y 2 Rt YR (TR ok R
MR e 2t B2 B & FRSITHE - (1041)

(3) MERTANBIROES FBIE(Y)E 555815 (ordinal variables) » G
FIAHAT BAL X F Y 80k 2 AR MR PR e i S e
TR R A B et B2 % FFMIT0 - (104)

2 » W T HRBAEE - (31304

BT B R B s bt 5
o piss , it

Z 6 112 118

) 16 729 745

R 22 841 863

RIS B S SR R S R T R R A a7

(1) aa TP A B R TR R W O o R 1 TR o o ey o
All(risk difference) » f: F 95%{SHEME AIERSE 2] - (10 53)

(2) SR RHHRHER th(relative risk) 367 95% (S HE R MBI SR - (10
51r)

(3) FRT I AEBE B LE A (odds ratio) » P 95% S T MEHE (3B b S AR - (10
53)




